

# ALACHUA COUNTY <u>Budget and Fiscal Services</u> Procurement

Larry M. Sapp, CPPB Procurement Manager Darryl R. Kight, CPPB Procurement Supervisor

June 10, 2022

# **MEMORANDUM**

To: Larry M. Sapp, Procurement Manager

Via: Darryl R. Kight, Procurement Supervisor Drk (Jun 13, 2022 10:31 EDT)

From: Markisha Boykin, Procurement Agent II Markisha Boykin

**Subject:** Intent to Award

ITB 23-215-MB Annual Fire Sprinklers, Risers, Extinguishers, Suppression

Systems, and Alarm Panels Inspections, Maintenance, and Repairs

Solicitation Opening Date: 2:00 PM, Wednesday, June 1, 2022

Solicitation Notifications View Count: 329 Vendors Solicitations Downloaded by:: 9 Vendors Solicitations Submissions : 2 Vendors

Firms:

Gator Fire Equipment W.W. Gay Fire Protection, Inc.

Gainesville, FL Gainesville, FL

# **RECOMMENDATION:**

The above solicitation be awarded to **W.W. Gay Fire Protection, Inc.**, as the lowest responsible and responsive bidder meeting specifications. The actual bid award is subject to the appropriate signature authority identified in the Procurement Code.

Larry M. Sapp Larry M. Sapp (Jun 13, 2021 10:33 EDT)	Jun 13, 2022	
Approved	Date	Disapproved
Larry M. Sapp, CPM, CPPB		Larry M. Sapp, CPM, CPPB
Procurement Manager		Procurement Manager
MB/mm		



# Alachua County, Florida

# Procurement

Larry M. Sapp, Procurement Manager County Administration Building, Gainesville, FL 32601

## **EVALUATION TABULATION**

ITB No. ITB 23-215-MB

Annual Fire Sprinklers, Risers, Extinguishers, Suppression Systems, and Alarm Panels Inspections, Maintenance, and

# Repairs

RESPONSE DEADLINE: June 1, 2022 at 2:00 pm Report Generated: Saturday, June 11, 2022

#### SELECTED VENDOR TOTALS

Vendor	Total
W.W. Gay Fire Protection, Inc	\$131,037.00
Gator Fire Equipment	\$176,791.00

## ANNUAL FIRE ALARM INSPECTION/MAINTENANCE

					Gator Fire	Equipment		Gay Fire tion, Inc
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
х	1	Administration - Annex	1	per year	\$520,00	\$520.00	\$636.00	\$636.00
Х	2	Ag Center Office and Auditorium	1	per year	\$550.00	\$550.00	\$799.00	\$799.00
X	3	Animal Shelter	1	per year	\$200.00	\$200.00	\$300.00	\$300.00
Х	4	Austin Carey Fire Tower	1	per year	\$250.00	\$250.00	\$255.00	\$255.00
Х	5	Civil Courthouse	1	per year	\$1,500.00	\$1,500.00	\$799.00	\$799.00

Annual Fire Sprinklers, Risers, Extinguishers, Suppression Systems, and Alarm Panels Inspections, Maintenance, and Repairs

					Gator Fire	Equipment		Say Fire tion, Inc
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Х	6	Combined Communications Center	1	per year	\$1,500.00	\$1,500.00	\$520.00	\$520.00
Х	7	Community Services/ Health Dept	1	per year	\$800.00	\$800.00	\$700.00	\$700.00
Х	8	County Administration Building	1	per year	\$520,00	\$520.00	\$803.00	\$803.00
Х	9	County Jail	1	per year	\$10,000.00	\$10,000.00	\$8,700.00	\$8,700.00
Х	10	Criminal Courthouse	1	per year	\$1,800.00	\$1,800.00	\$2,509.00	\$2,509.00
X	11	Josiah T. Walls Building	1	per year	\$950.00	\$950.00	\$366.00	\$366.00
X	12	Leveda Brown - Administration	1	per year	\$250.00	\$250.00	\$366,00	\$366.00
X	13	Leveda Brown - Hazard Waste Storage	1	per year	\$250.00	\$250.00	\$366,00	\$366.00
Х	14	Leveda Brown - Recovery Materials	1	per year	\$250,00	\$250,00	\$404.00	\$404.00
Х	15	Leveda Brown - Transfer Station	1	per year	\$350.00	\$350.00	\$434.00	\$434,00
Х	16	Main Street Center Building	1	per year	\$800.00	\$800.00	\$366.00	\$366,00
Х	17	Metamorphosis	1	per year	\$250,00	\$250.00	\$620.00	\$620.00
Х	18	New Tag 34th	1	per year	\$800.00	\$800,00	\$700.00	\$700,00
Х	19	Public Defenders Building	1	per year	\$800.00	\$800.00	\$514.00	\$514.00
Х	20	Record Retention Building	1	per year	\$520.00	\$520.00	\$490.00	\$490.00

## **EVALUATION TABULATION**

Annual Fire Sprinklers, Risers, Extinguishers, Suppression Systems, and Alarm Panels Inspections, Maintenance, and Repairs

					Gator Fire	Equipment		ay Fire
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Х	21	Sheriff HQ	1	per year	\$850.00	\$850.00	\$828.00	\$828,00
Х	22	State Attorney	1	per year	\$850.00	\$850.00	\$783.00	\$783.00
Х	23	Station 20	1	per year	\$250.00	\$250.00	\$324.00	\$324.00
Х	24	Station 23	1	per year	\$250.00	\$250.00	\$363.00	\$363.00
X	25	Station 24	1	per year	\$250.00	\$250.00	\$358.00	\$358.00
Х	26	Station 25	1	per year	\$250.00	\$250.00	\$356.00	\$356.00
X	27	Station 30	1	per year	\$250.00	\$250.00	\$345.00	\$345.00
Х	28	Station 33	1	per year	\$250.00	\$250.00	\$379.00	\$379.00
Х	29	Station 40	1	per year	\$250.00	\$250.00	\$329.00	\$329.00
X	30	Station 41	1	per year	\$250.00	\$250.00	\$310.00	\$310.00
Х	31	Station 60	1	per year	\$250.00	\$250.00	\$440.00	\$440.00
Х	32	Station 81	1	per year	\$250.00	\$250.00	\$315.00	\$315.00
Х	33	Station 82	1	per year	\$250.00	\$250.00	\$284.00	\$284.00
Х	34	SWAG Resource Center	1	per year	\$250.00	\$250.00	\$319.00	\$319.00
Х	35	Tag Agency - Butler	1	per year	\$700.00	\$700.00	\$300.00	\$300.00

# EVALUATION TABULATION

Annual Fire Sprinklers, Risers, Extinguishers, Suppression Systems, and Alarm Panels Inspections, Maintenance, and Repairs

				Gator Fire	Equipment	W.W. Gay Fire Protection, Inc		
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Χ	36	Wilson Building	1	per year	\$780,00	\$780.00	\$853.00	\$853.00
X	37	Work Release Facility Pod 1	1	per year	\$250.00	\$250.00	\$395.00	\$395,00
Х	38	Work Release Facility Pod 2	1	per year	\$250.00	\$250.00	\$358.00	\$358.00
Total						\$29,540.00		\$28,286,00

## SEMI - ANNUAL FIRE ALARM INSPECTION/MAINTENANCE

					Gator Fire Equipment			Say Fire tion, Inc
Selected	Line item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Х	39	Administration - Annex	1	per year	\$400.00	\$400.00	\$318.00	\$318.00
Х	40	Ag Center Office and Auditorium	1	per year	\$400.00	\$400.00	\$399.50	\$399.50
Х	41	Animal Shelter	1	per year	\$150.00	\$150.00	\$150.00	\$150.00
Х	42	Austin Carey Fire Tower	1	per year	\$250.00	\$250.00	\$127.50	\$127.50
Х	43	Civil Courthouse	1	per year	\$960.00	\$960.00	\$399.50	\$399,50
Х	44	Combined Communications Center	1	per year	\$960,00	\$960.00	\$260.00	\$260.00
Х	45	Community Services/ Health Dept	1	per year	\$500.00	\$500.00	\$260.00	\$260.00

EVALUATION TABULATION

Annual Fire Sprinklers, Risers, Extinguishers, Suppression Systems, and Alarm Panels Inspections, Maintenance, and Repairs

lagrapia estinges		pitokayaylasida Konstine Sakay Newson Sakay		Gator Fire Equipment			Gay Fire tion, Inc	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Х	46	County Administration Building	1	per year	\$400.00	\$400,00	\$401.50	\$401.50
Х	47	County Jail	1	per year	\$8,000.00	\$8,000.00	\$4,350.00	\$4,350.00
Х	48	Criminal Courthouse	1	per year	\$960.00	\$960.00	\$1,254.50	\$1,254.50
Х	49	Josiah T. Walls Building	1	per year	\$600,00	\$600.00	\$183.00	\$183.00
Х	50	Leveda Brown - Administration	1	per year	\$200.00	\$200.00	\$183.00	\$183.00
Х	51	Leveda Brown - Hazard Waste Storage	1	per year	\$200.00	\$200.00	\$183.00	\$183.00
Х	52	Leveda Brown - Recovery Materials	1	per year	\$200.00	\$200.00	\$202.00	\$202.00
Х	53	Leveda Brown - Transfer Station	1	per year	\$200.00	\$200.00	\$217.00	\$217.00
Х	54	Main Street Center Building	1	per year	\$500.00	\$500.00	\$183.00	\$183.00
Χ	55	Metamorphosis	1	per year	\$150.00	\$150.00	\$310.00	\$310.00
Х	56	New Tag 34th	1	per year	\$500.00	\$500.00	\$350.00	\$350.00
Х	57	Public Defenders Building	1	per year	\$400.00	\$400.00	\$257.00	\$257.00
Х	58	Record Retention Building	1	per year	\$350.00	\$350.00	\$245.00	\$245.00
Х	59	Sheriff HQ	1	per year	\$600.00	\$600.00	\$414.00	\$414.00
Х	60	State Attorney	1	per year	\$500.00	\$500.00	\$391.50	\$391.50

# EVALUATION TABULATION

Annual Fire Sprinklers, Risers, Extinguishers, Suppression Systems, and Alarm Panels Inspections, Maintenance, and Repairs

					Gator Fire	Equipment		Say Fire tion, Inc
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Х	61	Station 20	1	per year	\$175.00	\$175.00	\$137.00	\$137.00
Х	62	Station 23	1	per year	\$175.00	\$175.00	\$181.50	\$181.50
Х	63	Station 24	1	per year	\$175.00	\$175.00	\$179.00	\$179.00
Х	64	Station 25	1	per year	\$175.00	\$175.00	\$178.00	\$178.00
Х	65	Station 30	1	per year	\$175.00	\$175.00	\$172.50	\$172.50
Х	66	Station 33	1	per year	\$175.00	\$175.00	\$189.50	\$189.50
Х	67	Station 40	1	per year	\$175.00	\$175.00	\$164.50	\$164.50
Х	68	Station 41	1	per year	\$175.00	\$175.00	\$155.00	\$155.00
Х	69	Station 60	1	per year	\$175.00	\$175.00	\$220.00	\$220.00
Х	70	Station 81	1	per year	\$175.00	\$175.00	\$157.50	\$157.50
Х	71	Station 82	1	per year	\$175.00	\$175.00	\$142.00	\$142.00
Х	72	SWAG Resource Center	1	per year	\$175.00	\$175,00	\$159.50	\$159.50
Х	73	Tag Agency - Butler	1	per year	\$175.00	\$175.00	\$150.00	\$150.00
Х	74	Wilson Building	1	per year	\$175.00	\$175.00	\$426.50	\$426.50
Х	75	Work Release Facility Pod 1	1	per year	\$175.00	\$175.00	\$197.50	\$197.50

## EVALUATION TABULATION

ITB No. ITB 23-215-MB

Annual Fire Sprinklers, Risers, Extinguishers, Suppression Systems, and Alarm Panels Inspections, Maintenance, and Repairs

					Gator Fire	Equipment		Gay Fire tion, Inc
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Х	76	Work Release Facility Pod 2	1	per year	\$175,00	\$175.00	\$179.00	\$179.00
Total					GE 50106318	\$20,180.00	- 1 <u>0</u> -1 ( <u>0</u> 177 - 174	\$14,028.00

# ANNUAL FIRE SPRINKLER INSPECTION/MAINTENANCE

					Gator Fire Equipment		W.W. Gay Fire Protection, Inc	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Х	77	Administration - Annex	1	per year	\$500.00	\$500.00	\$300.00	\$300.00
Х	78	Ag Center Office & Auditorium	1	per year	\$500.00	\$500.00	\$500.00	\$500.00
Х	79	Animal Shelter	1	per year	\$150.00	\$150.00	\$75.00	\$75.00
Х	80	Civil Courthouse	1	per year	\$960.00	\$960.00	\$100.00	\$100.00
Х	81	Combined Communications Center	1	per year	\$960.00	\$960.00	\$900.00	\$900.00
Х	82	Community Services/Health Dept	1	per year	\$700.00	\$700.00	\$250.00	\$250.00
Х	84	County Jail	1	per year	\$4,000.00	\$4,000.00	\$3,500.00	\$3,500.00
X	85	Criminal Courthouse	1	per year	\$1,500.00	\$1,500.00	\$1,675.00	\$1,675.00
Х	86	Josiah T. Walls Building	1	per year	\$960.00	\$960.00	\$150.00	\$150.00

EVALUATION TABULATION

Annual Fire Sprinklers, Risers, Extinguishers, Suppression Systems, and Alarm Panels Inspections, Maintenance, and Repairs

					Gator Fire	Equipment		Say Fire Sion, Inc
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Х	87	Leveda Brown - Hazard Waste Storage	1	per year	\$350.00	\$350.00	\$300.00	\$300.00
Х	88	Leveda Brown- Recovery Materials	1	per year	\$350.00	\$350.00	\$300.00	\$300.00
Х	89	Leveda Brown - Transfer Station	1	per year	\$350.00	\$350.00	\$450.00	\$450.00
Х	90	Main Street Center Building	1	per year	\$500.00	\$500,00	\$225.00	\$225.00
Х	91	Public Defenders Building	1	per year	\$650.00	\$650.00	\$400.00	\$400.00
Х	92	Record Retention Building	1	per year	\$650.00	\$650.00	\$375.00	\$375.00
Х	93	Sheriff HQ	1	per year	\$750.00	\$750.00	\$500.00	\$500.00
Х	94	Station 20	1	per year	\$250.00	\$250.00	\$100.00	\$100.00
Х	95	Station 21	1	per year	\$250.00	\$250.00	\$100.00	\$100.00
Х	96	Station 23	1	per year	\$250.00	\$250.00	\$100.00	\$100.00
Х	97	Station 24	1	per year	\$250.00	\$250.00	\$100,00	\$100.00
X	98	Station 25	1	per year	\$250.00	\$250.00	\$100.00	\$100.00
Х	99	Station 30	1	per year	\$250.00	\$250.00	\$100.00	\$100.00
Х	100	Station 33	1	per year	\$250.00	\$250.00	\$100.00	\$100.00
Х	101	Station 40	1	per year	\$250.00	\$250.00	\$100.00	\$100.00

# EVALUATION TABULATION

ITB No. ITB 23-215-MB

Annual Fire Sprinklers, Risers, Extinguishers, Suppression Systems, and Alarm Panels Inspections, Maintenance, and Repairs

	i pasidonico Spira en en esta Tanto valorio		1 3 miss 1 3 miss		Gator Fire Equipment			Gay Fire tion, Inc
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Х	102	Station 41	1	per year	\$250.00	\$250.00	\$100,00	\$100.00
Х	103	Station 60	1	per year	\$250.00	\$250.00	\$200.00	\$200.00
Х	104	Station 80	1	per year	\$250.00	\$250.00	\$100.00	\$100.00
Х	105	Station 81	1	per year	\$250,00	\$250,00	\$100.00	\$100.00
X	106	Station 82	1	per year	\$250.00	\$250.00	\$100.00	\$100.00
Х	107	Wilson Building	1	per year	\$450.00	\$450.00	\$375.00	\$375.00
Х	108	Work Release Facility Mod 1	1	per year	\$250.00	\$250.00	\$200.00	\$200.00
Х	109	Work Release Facility Mod 2	1	per year	\$250.00	\$250.00	\$200.00	\$200.00
Total			indulation (s) in 15 miles (s)			\$18,030.00	15 (8)	\$12,175.00

# ADDITIONAL QUARTERLY FIRE SPRINKLER INSPECTION/MAINTENANCE

performed three (3) times per year

					Gator Fire	ator Fire Equipment		Gay Fire tion, Inc
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Х	110	Administration - Annex	3	per year	\$125.00	\$375.00	\$300,00	\$900.00

**EVALUATION TABULATION** 

Annual Fire Sprinklers, Risers, Extinguishers, Suppression Systems, and Alarm Panels Inspections, Maintenance, and Repairs

					Gator Fire	Equipment		Say Fire tion, Inc
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Х	111	Ag Center Office & Auditorium	3	per year	\$175.00	\$525.00	\$300.00	\$900.00
Х	112	Animal Shelter	3	per year	\$105,00	\$315.00	\$150.00	\$450.00
х	113	Civil Courthouse	3	per year	\$350,00	\$1,050.00	\$324.00	\$972.00
х	114	Combined Communications Center	3	per year	\$300.00	\$900.00	\$294.00	\$882.00
Х	115	Community Services/Health Dept	3	per year	\$250.00	\$750.00	\$300.00	\$900.00
х	117	County Jail	3	per year	\$1,250.00	\$3,750.00	\$1,600.00	\$4,800.00
Х	118	Criminal Courthouse	3	per year	\$700.00	\$2,100.00	\$600.00	\$1,800.00
Х	119	Josiah T. Walls Building	3	per year	\$300.00	\$900.00	\$400.00	\$1,200.00
Х	120	Leveda Brown - Hazard Waste Storage	3	per year	\$200.00	\$600,00	\$200,00	\$600.00
Х	121	Leveda Brown- Recovery Materials	3	per year	\$200.00	\$600.00	\$200.00	\$600,00
X	122	Leveda Brown - Transfer Station	3	per year	\$500.00	\$1,500.00	\$300.00	\$900.00
Х	123	Main Street Center Building	3	per year	\$175.00	\$525,00	\$200.00	\$600.00
X	124	Public Defenders Building	3	per year	\$200.00	\$600.00	\$300.00	\$900,00
X	125	Record Retention Building	3	per year	\$200.00	\$600.00	\$300,00	\$900.00
Х	126	Sheriff HQ	3	per year	\$200,00	\$600.00	\$400.00	\$1,200.00

# EVALUATION TABULATION

110 NO. 110 23-213-1910

Annual Fire Sprinklers, Risers, Extinguishers, Suppression Systems, and Alarm Panels Inspections, Maintenance, and Repairs

					Gator Fire	Equipment		Gay Fire tion, Inc
Selected	Line Item	<b>Description</b>	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Х	127	Station 20	3	per year	\$125.00	\$375.00	\$100.00	\$300.00
Х	128	Station 21	3	per year	\$125.00	\$375.00	\$100.00	\$300.00
Х	129	Station 23	3	per year	\$125.00	\$375.00	\$100.00	\$300.00
Х	130	Station 24	3	per year	\$125.00	\$375.00	\$100.00	\$300.00
Х	131	Station 25	3	per year	\$125.00	\$375.00	\$100.00	\$300.00
Х	132	Station 30	3	per year	\$125.00	\$375.00	\$100.00	\$300.00
X	133	Station 33	3	per year	\$125.00	\$375.00	\$100.00	\$300.00
Х	134	Station 40	3	per year	\$125.00	\$375.00	\$100.00	\$300.00
Х	135	Station 41	3	per year	\$125.00	\$375.00	\$100.00	\$300.00
Х	136	Station 60	3	per year	\$125.00	\$375.00	\$100.00	\$300.00
Х	137	Station 80	3	per year	\$125.00	\$375.00	\$100.00	\$300.00
Х	138	Station 81	3	per year	\$125.00	\$375.00	\$100.00	\$300.00
X	139	Station 82	3	per year	\$125.00	\$375.00	\$100.00	\$300.00
Х	140	Wilson Building	3	per year	\$175.00	\$525.00	\$300.00	\$900.00
Х	141	Work Release Facility Mod 1	3	per year	\$125.00	\$375.00	\$150.00	\$450.00

# EVALUATION TABULATION

Annual Fire Sprinklers, Risers, Extinguishers, Suppression Systems, and Alarm Panels Inspections, Maintenance, and Repairs

					Gator Fire	Equipment		Gay Fire tion, Inc
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Χ	142	Work Release Facility Mod 2	3	per year	\$125.00	\$375.00	\$150,00	\$450,00
Total						\$21,840.00	8	\$24,204.00

## ANNUAL BACKFLOW PREVENTER & PIV INSPECTION/MAINTENANCE

					Gato Equip		W.W. G Protect	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Х	143	Administration - Annex	1	per year	\$55.00	\$55.00	\$100.00	\$100.00
Х	144	Ag Center Office & Auditorium	1	per year	\$55.00	\$55.00	\$100.00	\$100.00
Х	145	Animal Shelter	1	per year	\$55.00	\$55.00	\$75.00	\$75.00
Х	146	Civil Courthouse	1	per year	\$55,00	\$55.00	\$75.00	\$75,00
Х	147	Combined Communications Center	1	per year	\$110.00	\$110.00	\$100.00	\$100.00
Х	148	Community Services/Health Dept	1	per year	\$110.00	\$110.00	\$100.00	\$100.00
Х	149	County Administration Building	1	per year	\$110.00	\$110.00	\$100.00	\$100.00
Х	150	County Jail	1	per year	\$500.00	\$500.00	\$100.00	\$100.00
Х	151	Criminal Courthouse	1	per year	\$110.00	\$110.00	\$125.00	\$125,00

EVALUATION TABULATION

Annual Fire Sprinklers, Risers, Extinguishers, Suppression Systems, and Alarm Panels Inspections, Maintenance, and Repairs

	n i nast også en Stept i den sk					r Fire ment		Say Fire tion, Inc
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Х	152	Josiah T. Walls Building	1	per year	\$110.00	\$110.00	\$100.00	\$100.00
Х	153	Leveda Brown - Hazard Waste Storage	1	per year	\$55.00	\$55.00	\$100.00	\$100.00
Х	154	Leveda Brown- Recovery Materials	1	per year	\$55.00	\$55.00	\$100.00	\$100.00
Х	155	Leveda Brown - Transfer Station	1	per year	\$55.00	\$55.00	\$100.00	\$100.00
Х	156	Main Street Center Building	1	per year	\$55.00	\$55.00	\$75.00	\$75.00
Х	157	Public Defenders Building	1	per year	\$110.00	\$110.00	\$100.00	\$100.00
Х	158	Record Retention Building	1	per year	\$200.00	\$200.00	\$75.00	\$75.00
Х	159	Sheriff HQ	1	per year	\$110.00	\$110.00	\$100.00	\$100.00
Х	160	Station 20	1	per year	\$55.00	\$55.00	\$100.00	\$100.00
Χ	161	Station 21	1	per year	\$55.00	\$55.00	\$100.00	\$100.00
Х	162	Station 23	1	per year	\$55.00	\$55.00	\$100.00	\$100.00
Х	163	Station 24	1	per year	\$55.00	\$55.00	\$100.00	\$100.00
Х	164	Station 25	1	per year	\$55.00	\$55.00	\$100.00	\$100.00
Х	165	Station 30	1	per year	\$55.00	\$55.00	\$100.00	\$100.00
Х	166	Station 33	1	per year	\$55.00	\$55.00	\$100.00	\$100.00

#### **EVALUATION TABULATION**

Annual Fire Sprinklers, Risers, Extinguishers, Suppression Systems, and Alarm Panels Inspections, Maintenance, and Repairs

						r Fire oment		Bay Fire tion, Inc
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Х	167	Station 40	1	per year	\$55.00	\$55.00	\$100.00	\$100.00
Х	168	Station 41	1	per year	\$55.00	\$55.00	\$100.00	\$100.00
Х	169	Station 60	1	per year	\$55,00	\$55.00	\$100.00	\$100.00
Х	170	Station 80	1	per year	\$55.00	\$55,00	\$100.00	\$100.00
х	171	Station 81	1	per year	\$55,00	\$55.00	\$100,00	\$100.00
Х	172	Station 82	1	per year	\$55.00	\$55.00	\$100.00	\$100.00
Х	173	Wilson Bullding	1	per year	\$55.00	\$55,00	\$75.00	\$75.00
Total			l			\$2,680.00		\$3,000.00

# FIRE SUPPRESSION SYSTEMS (HALON/FM200)

performed twice per year

					Gator Fire	Gator Fire Equipment           Unit Cost         Total           \$200.00         \$800.00           \$200.00         \$400.00		Say Fire tion, Inc
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Χ	174	Ag Center Office & Auditorium	4	per year	\$200.00	\$800,00	\$400.00	\$1,600.00
Х	175	Animal Shelter	2	per year	\$200,00	\$400.00	\$400.00	\$800.00

# EVALUATION TABULATION

ITB No. ITB 23-215-MB

Annual Fire Sprinklers, Risers, Extinguishers, Suppression Systems, and Alarm Panels Inspections, Maintenance, and Repairs

Artigotic Pilip Artigo Aloys	nde djeseveje e Gjeogla se je				Gator Fire	Equipment		Gay Fire tion, Inc
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Х	176	Civil Courthouse	2	per year	\$3,000.00	\$6,000.00	\$400.00	\$800.00
Х	177	Combined Communications Center	2	per year	\$2,000.00	\$4,000.00	\$400.00	\$800.00
X	178	Metamorphosis	2	per year	\$200.00	\$400.00	\$400.00	\$800.00
Х	179	Sheriff HQ	2	per year	\$2,000.00	\$4,000.00	\$400.00	\$800.00
Х	180	SWAG Resource Center	2	per year	\$200.00	\$400.00	\$400.00	\$800.00
Х	181	Wilson Building	2	per year	\$3,000.00	\$6,000.00	\$400.00	\$800.00
X	182	Work Release Facility Pod 1	2	per year	\$200.00	\$400.00	\$400.00	\$800.00
Total				ar Taratir		\$22,400.00		\$8,000.00

# ANNUAL STANDPIPE INSPECTION/MAINTENANCE

ig shigares Assalin ilan Mari Sala						r Fire oment		ay Fire ion, Inc
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Х	183	Civil Courthouse (must be inspected on weekends)	1	per year	\$1,000.00	\$1,000.00	\$125.00	\$125.00
X	184	County Administration Building	1	per year	\$800.00	\$800.00	\$400.00	\$400.00
X	185	Criminal Courthouse (must be inspected on weekends)	1	per year	\$1,000.00	\$1,000.00	\$500.00	\$500.00

EVALUATION TABULATION

ITB No. ITB 23-215-MB

Annual Fire Sprinklers, Risers, Extinguishers, Suppression Systems, and Alarm Panels Inspections, Maintenance, and Repairs

				Gatoı Equip		W.W. Gay Fire Protection, Inc		
Selected Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	
Total					\$2,800.00		\$1,025.00	

# ANNUAL GUARDIAN SYSTEM INSPECTION/MAINTENANCE

performed twice per year

						r Fire Iment		Say Fire tion, Inc
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Х	186	Metamorphosis	4	per year	\$200.00	\$800,00	\$150.00	\$600.00
Х	187	Station 20	2	per year	\$200.00	\$400,00	\$150.00	\$300,00
x	188	Station 25	2	per year	\$200.00	\$400.00	\$150.00	\$300.00
х	189	Station 81	2	per year	\$200.00	\$400.00	\$150.00	\$300.00
Х	190	Work Release Facility Pod 1	2	per year	\$200.00	\$400.00	\$150.00	\$300.00
Х	191	Combined Communications Center	2	per year	\$200.00	\$400.00	\$150.00	\$300.00
Total						\$2,800.00		\$2,100.00

## ANNUAL FUEL ISLAND SUPPRESSION SYSTEM

EVALUATION TABULATION

Annual Fire Sprinklers, Risers, Extinguishers, Suppression Systems, and Alarm Panels Inspections, Maintenance, and Repairs

					Gator Fire Equipment		W.W. Gay Fire Protection, Inc	
Selected	Line Item	<b>Description</b>	Quantity	Unit of Measure	Unit Cost		Unit Cost	
Х	192	Public Works Fuel Island	1	per year	\$500.00	\$500.00	\$250.00	\$250.00
Total						\$500.00	a de la composición dela composición de la composición de la composición dela composición dela composición dela composición de la composición de la composición de la composición dela composición de la composición dela c	\$250.00

# ANNUAL FIRE PUMP INSPECTION/MAINTENANCE

	8 N. D. 1845					r Fire oment	W.W. Gay Fire Protection, In	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Х	193	Civil Courthouse	1	per year	\$1,500.00	\$1,500.00	\$250.00	\$250.00
Х	194	Community Services/ Health Dept	1	per year	\$0.00	\$0.00	\$250.00	\$250.00
Х	195	County Jail	1	per year	\$0.00	\$0.00	\$250.00	\$250.00
Х	196	Criminal Courthouse	1	per year	\$1,500.00	\$1,500.00	\$400.00	\$400.00
Х	197	Josiah T. Walls Building	1	per year	\$1,300.00	\$1,300.00	\$250.00	\$250.00
Х	198	Leveda Brown - Transfer Station	1	per year	\$1,500.00	\$1,500.00	\$250.00	\$250.00
Х	199	Station 20	1	per year	\$300.00	\$300.00	\$250.00	\$250.00
Total						\$6,100.00		\$1,900.00

# EVALUATION TABULATION

ITB No. ITB 23-215-MB

Annual Fire Sprinklers, Risers, Extinguishers, Suppression Systems, and Alarm Panels Inspections, Maintenance, and Repairs

## **3 YEAR DRY SPRINKLER INSPECTION**

performed once every three (3) years, may not be due this year

					Gato Equip	r Fire ment		Bay Fire tion, Inc
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
X	200	Ag Center Office and Auditorium	1	per 3 years	\$700.00	\$700.00	\$150.00	\$150.00
Х	201	Combined Communications Center	1	per 3 years	\$700.00	\$700.00	\$150.00	\$150.00
Х	202	Station #60	1	per 3 years	\$700.00	\$700.00	\$150,00	\$150.00
Х	203	Leveda Brown - Hazard Waste Storage	1	per 3 years	\$700.00	\$700.00	\$150.00	\$150.00
Х	204	Leveda Brown - Recovery Materials	1	per 3 years	\$700,00	\$700,00	\$150.00	\$150.00
Х	205	Leveda Brown - Transfer Station	1	per 3 years	\$800.00	\$800.00	\$150.00	\$150.00
Х	206	Records Retention Building	1	per 3 years	\$900,00	\$900,00	\$150,00	\$150.00
X	207	Sheriff HQ	1	per 3 years	\$900.00	\$900.00	\$150.00	\$150.00
Total						\$6,100.00		\$1,200.00

# EVALUATION TABULATION

ITB No. ITB 23-215-MB

Annual Fire Sprinklers, Risers, Extinguishers, Suppression Systems, and Alarm Panels Inspections, Maintenance, and Repairs

## 5-YEAR WET & DRY FIRE SPRINKLER INSPECTION

performed once every five (5) years, may not be due this year

e delegation e de e delegation del legacione					Gator Fire		Gay Fire tion, Inc	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Х	208	Administration - Annex	1	per 5 years	\$900.00	\$900.00	\$400.00	\$400.00
Х	209	Ag Center Office & Auditorium	1	per 5 years	\$1,000.00	\$1,000.00	\$1,100.00	\$1,100.00
X	210	Animal Shelter	1	per 5 years	\$250.00	\$250.00	\$200.00	\$200.00
X	211	Civil Courthouse	1	per 5 years	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00
Х	212	Combined Communications Center	1	per 5 years	\$2,000.00	\$2,000.00	\$1,000.00	\$1,000.00
Х	213	Community Services/Health Dept	1	per 5 years	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
Х	214	County Administration Building	1	per 5 years	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00
Х	215	County Jail	1	per 5 years	\$8,000.00	\$8,000.00	\$9,200.00	\$9,200.00
Х	216	Criminal Courthouse	1	per 5 years	\$2,000.00	\$2,000.00	\$2,200.00	\$2,200.00

**EVALUATION TABULATION** 

Annual Fire Sprinklers, Risers, Extinguishers, Suppression Systems, and Alarm Panels Inspections, Maintenance, and Repairs

					Gator Fire	Equipment		Say Fire tion, Inc
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Х	217	Josiah T. Walls Building	1	per 5 years	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00
Х	218	Leveda Brown - Hazard Waste Storage	1	per 5 years	\$1,500.00	\$1,500.00	\$400,00	\$400.00
Х	219	Leveda Brown- Recovery Materials	1	per 5 years	\$1,500.00	\$1,500.00	\$400.00	\$400,00
X	220	Leveda Brown - Transfer Station	1	per 5 years	\$1,500.00	\$1,500.00	\$700.00	\$700.00
X	221	Main Street Center Building	1	per 5 years	\$1,200.00	\$1,200.00	\$400.00	\$400.00
Х	222	Public Defenders Building	1	per 5 years	\$1,000.00	\$1,000.00	\$400.00	\$400.00
Х	223	Record Retention Building	1	per 5 years	\$1,200.00	\$1,200.00	\$500,00	\$500.00
Х	224	Sheriff HQ	1	per 5 years	\$1,500.00	\$1,500.00	\$650.00	\$650.00
X	225	Station 20	1	per 5 years	\$500.00	\$500.00	\$350,00	\$350.00
Х	226	Station 21	1	per 5 years	\$500.00	\$500.00	\$350.00	\$350,00

# EVALUATION TABULATION

Annual Fire Sprinklers, Risers, Extinguishers, Suppression Systems, and Alarm Panels Inspections, Maintenance, and Repairs

	10 (10 (10 (10 (10 (10 (10 (10 (10 (10 (		i i neto e la come o successione		Gator Fire	Equipment		Say Fire tion, Inc
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Χ	227	Station 23	1	per 5 years	\$500.00	\$500.00	\$350.00	\$350.00
X	228	Station 24	1	per 5 years	\$500.00	\$500.00	\$350.00	\$350.00
Х	229	Station 25	1	per 5 years	\$500,00	\$500.00	\$350.00	\$350.00
X	230	Station 30	1	per 5 years	\$500.00	\$500.00	\$350.00	\$350.00
X	231	Station 33	1	per 5 years	\$500.00	\$500.00	\$350.00	\$350.00
Х	232	Station 40	1	per 5 years	\$500.00	\$500.00	\$350.00	\$350.00
X	233	Station 41	1	per 5 years	\$500.00	\$500.00	\$350.00	\$350.00
Х	234	Station 60	1	per 5 years	\$500.00	\$500.00	\$350.00	\$350,00
Х	235	Station 80	1	per 5 years	\$500.00	\$500.00	\$350.00	\$350.00
Х	236	Station 81	1	per 5 years	\$500.00	\$500.00	\$350.00	\$350.00

# **EVALUATION TABULATION**

ITB No. ITB 23-215-MB

Annual Fire Sprinklers, Risers, Extinguishers, Suppression Systems, and Alarm Panels Inspections, Maintenance, and Repairs

			Gator Fire		Equipment	W.W. Gay Fire Protection, Inc		
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Х	237	Station 82	1	per 5 years	\$500.00	\$500,00	\$350,00	\$350.00
Х	238	Wilson Building	1	per 5 years	\$1,000.00	\$1,000.00	\$700.00	\$700.00
Х	239	Work Release Facility Mod 1	1	per 5 years	\$500.00	\$500,00	\$250,00	\$250,00
X	240	Work Release Facility Mod 2	1	per 5 years	\$500.00	\$500.00	\$250.00	\$250.00
Total		enough versions in	en Sint organization		-05-11 A	\$38,050,00		\$28,800.00

# FIRE EXTINGUISHER MAINTENANCE AND RECHARGE

						r Fire oment		Say Fire tion, Inc
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
X	241	Annual Fire Extinguisher Maintenance performed onsite throughout various County buildings	674	each	\$4.50	\$3,033.00	\$6.00	\$4,044.00
Х	242	ABC Recharge 2.51b	1	each	\$20,00	\$20.00	\$35.00	\$35.00
Х	243	ABC Recharge 5lb	1	each	\$23,00	\$23.00	\$45.00	\$45.00

#### EVALUATION TABULATION

Annual Fire Sprinklers, Risers, Extinguishers, Suppression Systems, and Alarm Panels Inspections, Maintenance, and Repairs

					Gator Fire Equipment		W.W. G Protect	iay Fire ion, Inc
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Х	244	ABC Recharge 10lb	1	each	\$30.00	\$30.00	\$55,00	\$55.00
Х	245	ABC Recharge 20lb	1	each	\$40.00	\$40.00	\$65.00	\$65.00
X	246	CO2 Recharge 5lb	1	each	\$35.00	\$35.00	\$55.00	\$55.00
Х	247	CO2 Recharge 10lb	1	each	\$55.00	\$55,00	\$65.00	\$65.00
Х	248	CO2 Recharge 15lb	1	each	\$75.00	\$75.00	\$75.00	\$75.00
Х	249	CO2 Recharge 20lb	1	each	\$100.00	\$100.00	\$85.00	\$85.00
Х	250	Water Extinguisher Recharge 2.5 Gallon	·1	each	\$30,00	\$30.00	\$50.00	\$50.00
Х	251	K-Class Recharge per pound	1	each	\$10.00	\$10.00	\$150.00	\$150.00
Х	252	Halon per pound	1	each	\$300.00	\$300.00	\$75.00	\$75.00
Х	253	Fuse Links	1	each	\$20.00	\$20.00	\$10.00	\$10.00
Х	254	6-Year Maintenance	1	each	\$30.00	\$30.00	\$0.00	\$0.00
Х	255	Hydrostatic Test	1	each	\$20.00	\$20.00	\$0.00	\$0.00
X	256	New ABC Fire Extinguisher 2.5lb	1	each	\$45.00	\$45.00	\$55.00	\$55.00
Х	257	New ABC Fire Extinguisher 5lb	1	each	\$60.00	\$60.00	\$75.00	\$75.00
Х	258	New ABC Fire Extinguisher 10lb	1	each	\$90,00	\$90.00	\$95.00	\$95,00

# EVALUATION TABULATION

ITB No. ITB 23-215-MB

Annual Fire Sprinklers, Risers, Extinguishers, Suppression Systems, and Alarm Panels Inspections, Maintenance, and Repairs

					Gator Fire Equipment		W.W. Gay Fire Protection, Inc	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Χ	259	New ABC Fire Extinguisher 20lb	1	each	\$200,00	\$200.00	\$165,00	\$165.00
Total						\$4,216.00		\$5,199.00

## **REPAIR SERVICES LABOR RATES**

	Mailson V.				Gato Equip	r Fire ment		ay Fire ion, Inc
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Х	260	Labor Rate for Repairs, per Hour, 1st Person	1	Hour	\$165.00	\$165,00	\$128.00	\$128.00
Х	261	Labor Rate for Repairs, per Hour, 2nd Person	1	Hour	\$90.00	\$90.00	\$80.00	\$80.00
Х	262	Labor Rate for Repairs, per Hour, 1st Person, After Hours/Emergency/Overtime	1	Hour	\$250.00	\$250.00	\$192.00	\$192.00
X	263	Labor Rate for Repairs, per Hour, 2nd Person, After Hours/Emergency/Overtime	1	Hour	\$250.00	\$250.00	\$120.00	\$120.00
Total	C 30.00					\$755,00		\$520.00

## FIRE HOSE SERVICE

EVALUATION TABULATION

ITB No. ITB 23-215-MB

Annual Fire Sprinklers, Risers, Extinguishers, Suppression Systems, and Alarm Panels Inspections, Maintenance, and Repairs

		Description (		Unit of Measure	Gator Fire Equipment		W.W. Gay Fire Protection, Inc	
Selected	Line Item -		Quantity		Unit Cost	Total	Unit Cost	Total
Χ	264	5 Year Fire Hose Testing	1	per 5 years	\$400.00	\$400.00	\$200.00	\$200.00
Х	265	Replace Cost for Fire Hose	1	Each	\$400.00	\$400.00	\$150.00	\$150.00
Total				100 E 175		\$800.00		\$350.00

# VENDOR QUESTIONNAIRE PASS/FAIL

Question Title	Gator Fire Equipment	Network Craze	W.W. Gay Fire Protection, Inc
Submittal Confirmation	Pass	No Response	Pass
Corporate Resolution Granting Signing	Pass	No Response	Pass
Public Record Trade Secret or Proprietary Confidential Business Information Exemption Request	Pass	No Response	Pass
Public Record Trade Secret or Proprietary Confidential Business Information Exemption Request	Pass	No Response	Pass
Public Record Trade Secret or Proprietary Confidential Business Information Exemption Request	No Response	No Response	No Response
Option 1: Company is an Alachua County Certified Small Business Enterprise.	Fail	No Response	Fail

# EVALUATION TABULATION

Annual Fire Sprinklers, Risers, Extinguishers, Suppression Systems, and Alarm Panels Inspections, Maintenance, and Repairs

Question Title	Gator Fire Equipment	Network Craze	W.W. Gay Fire Protection, Inc
Option 2: I certify that our Company will perform ALL work and that no subcontractors will be utilized for this bid.	Fail	No Response	Fail
Option 3: SBE Participation.	Fail	No Response	Fail
Option 4: SBE Good Faith Effort.	Fail	No Response	Fail
Alachua County Government Minimum Wage (GMW)	Pass	No Response	Pass
DRUG FREE WORKPLACE	Pass	No Response	Pass
State Compliance	Pass	No Response	Pass
Vendor Eligibility	Pass	No Response	Pass
List all subcontractor's being utilized on this BID, (NON-SBE) IF no sub contractor are being utilized respond N/A	Pass	No Response	Pass
Responsible Agent	Pass	No Response	Pass
Number of years in this type of service?	Pass	No Response	Pass
Number of years licensed in Alachua County?	Pass	No Response	Pass
How many employees "ON THE JOB" each week?	Pass	No Response	Pass
Number of employees "ON CALL" each week?	Pass	No Response	Pass

# EVALUATION TABULATION

ITB No. ITB 23-215-MB

Annual Fire Sprinklers, Risers, Extinguishers, Suppression Systems, and Alarm Panels Inspections, Maintenance, and Repairs

Question Title	Gator Fire Equipment	Network Craze	W.W. Gay Fire Protection, Inc
List all major equipment which will be available upon commencement of the agreement to perform the required service:	Pass	No Response	Pass
Do you currently hold any municipality contracts?	Pass	No Response	Pass
If you indicated yes to holding municipality contracts please list them below:	Pass	No Response	Pass
References	Pass	No Response	Pass
Are your employees screened by:	Pass	No Response	Pass
Cancelled or Termination	Pass	No Response	Pass
Cancellation and Termination	Pass	No Response	Pass
What constitutes your normal business days and working hours?	Pass	No Response	Pass
Describe below, your firm's operational plan for providing the services under this agreement?	Pass	No Response	Pass
Did you review and complete all the required documents and attachments?	Pass	No Response	Pass
Do you acknowledge all Addendum(s) issued with this solicitation?	Pass	No Response	Pass
Conflict of Interest	Pass	No Response	Pass

## EVALUATION TABULATION

# ITA 23-215-MB Annual Fire Sprinklers, Risers, Extinguishers, Supp

Final Audit Report

2022-06-13

Created:

2022-06-10

By:

Mandy Mullins (mmmullins@alachuacounty.us)

Status:

Signed

Transaction ID:

CBJCHBCAABAA31UFVk9KPR3I5SRu56C8s23wna1MBa2P

# "ITA 23-215-MB Annual Fire Sprinklers, Risers, Extinguishers, Supp" History

- Document created by Mandy Mullins (mmmullins@alachuacounty.us) 2022-06-10 10:10:14 PM GMT- IP address: 163.120.80.69
- Document emailed to Markisha Boykin (mboykin@alachuacounty.us) for signature 2022-06-10 10:12:28 PM GMT
- Email viewed by Markisha Boykin (mboykin@alachuacounty.us) 2022-06-13 1:52:19 PM GMT- IP address: 163.120.80.11
- Document e-signed by Markisha Boykin (mboykin@alachuacounty.us)

  Signature Date: 2022-06-13 1:54:03 PM GMT Time Source: server- IP address: 163.120.80.11
- Document emailed to Drk (dkight@alachuacounty.us) for signature 2022-06-13 1:54:05 PM GMT
- Email viewed by Drk (dkight@alachuacounty.us) 2022-06-13 2:30:24 PM GMT- IP address: 66.231.154.174
- Document e-signed by Drk (dkight@alachuacounty.us)

  Signature Date: 2022-06-13 2:31:37 PM GMT Time Source: server- IP address: 66.231.154.174
- Document emailed to Larry M. Sapp (lsapp@alachuacounty.us) for signature 2022-06-13 2:31:39 PM GMT
- Email viewed by Larry M. Sapp (lsapp@alachuacounty.us) 2022-06-13 2:32:10 PM GMT- IP address: 149.19.43.13
- Document e-signed by Larry M. Sapp (Isapp@alachuacounty.us)

  Signature Date: 2022-06-13 2:33:05 PM GMT Time Source: server- IP address: 149.19.43.13



Agreement completed. 2022-06-13 - 2:33:05 PM GMT Adobe Acrobat Sign